ODVB
OUTDOOR VOLLEYBALL STANDARD

ITEM # PART # PART NAME QTY
1 601653813 Uprights 1 pair
2 601653814 Winch 1 each
3 502-6-16-48 |3/8" x 3" Hex Bolt 2 each
4 545-6-16Z 3/8" Nylock Nut 14 each
5 1023-09-00 Plastic Tube Cap 2 each
6 1422-11-00 3/8" Eye Bolt 10 each
7 561-6 3/8" Washer 14 each
8 601653815 Ground Sleeve 2 each
9 1282-30-00 5/16" Snap Link (not shown) 1 each

Dig holes in desired location 12" to 15" diameter by 30" deep. Pour
concrete and set ground sleeves in so they are flush with ground level.
Set uprights in ground sleeves, plumb and support in place. Allow
concrete to cure properly before using.

NOTE: Winch and Eyebolts go inward toward the center of the court.

20.00
30.00




	Sheet1

